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SM2 1.1: Integer Exponent 

For each problem listed below, simplify and describe the process you used and why. 

1)  𝑥𝑥3𝑥𝑥5 
 
 
 
 

2)  𝑑𝑑8

𝑑𝑑4
 

 

3)  (𝑥𝑥5)2 
 
 

4)  (121𝑎𝑎𝑥𝑥5𝑧𝑧12)0 
 

 

Simplify each exponential expression. Leave your answers with only positive exponents. 

5)  3𝑦𝑦8 ∙ 2𝑦𝑦2 
 
 
 
 

6)  𝑎𝑎𝑏𝑏5 ∙ 8𝑎𝑎2𝑏𝑏5 

7)  5𝑗𝑗4(−9𝑗𝑗5) 
 

 
 
 
 

8)  (ℎ4)3 

9)  (3𝑎𝑎𝑎𝑎𝑎𝑎)(2𝑎𝑎2𝑏𝑏) 
 
 
 
 

10)  (−2𝑎𝑎2𝑤𝑤3𝑦𝑦)3 

11)  (4𝑔𝑔𝑔𝑔)2 
 
 
 
 

12)  −3(𝑘𝑘𝑘𝑘)4 

13)  𝑥𝑥−4 
 
 
 

 

14)  3
𝑐𝑐−2

 

15)  𝑠𝑠3

𝑠𝑠−4
 

 
 
 
 
 

16)  6𝑝𝑝−2

𝑝𝑝2
 



17)  [(𝑘𝑘5)2]3 
 
 
 
 
 

18)  𝑎𝑎5𝑏𝑏3

𝑎𝑎2𝑑𝑑
 

 

19)  𝑥𝑥3𝑦𝑦2𝑧𝑧
𝑥𝑥2𝑦𝑦2

 

 
 
 
 
 

20)  
�
𝑥𝑥2

3 �
3

 

21)  
�
𝑐𝑐5

𝑏𝑏7�
10

 

 
 
 
 
 

22)  3𝑥𝑥6

6𝑥𝑥10
 

23)  (−3𝑐𝑐5)2 
 
 
 
 

24)  
�

2𝑥𝑥
3𝑦𝑦2

�
3

 

25)  𝑎𝑎2𝑏𝑏4 ∙ 𝑎𝑎3𝑐𝑐2 
 
 
 
 
 

26)  [(−23)3]2 
 
 
 
 

 
27)  

��
3𝑥𝑥3𝑦𝑦17𝑧𝑧
12𝑎𝑎115𝑏𝑏�

5

�
0

 

 
 
 
 
 
 

28)  9𝑎𝑎2𝑏𝑏7𝑐𝑐3

2𝑎𝑎5𝑏𝑏4𝑐𝑐5
 

29)  (–𝑢𝑢−3𝑣𝑣3)2

(𝑢𝑢3𝑣𝑣)−3  

 
 
 
 
 

30)  
�

−18𝑥𝑥0𝑎𝑎−3

6(𝑥𝑥−2𝑎𝑎−3)(𝑥𝑥−3𝑎𝑎3)�
2

 

 


